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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 68/0S/2, Set | A | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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AT 39T -

1

2

el Y9 —F % U Y5 UX YUl S orasd fod |

FUAT YT Bl AT & b UT-UT b HA YS! qUT Y Bl Ia! & WA @ fAaAr gem
U3 % G99 HUI BU &1 39 91 bl G W B o B YT s €9 H |

JEgrs geet & Ul A faaedt (A), (B), (C) @91 (D) H & $1E TF A AT & aq° &
T SA-gRaH § 39 Hel A Bl W@ 5|

JEIFTss el % wrg—|re adl gel & A e oty & Hiax & < €1 aggirss et
% fog ot @ wwg @ fean s

SA-gRae ¥ wEaH-fag S stuan i Wt & sifafea w2l srwaie faay X
T B ST SETAT SR

UeTaS # el T YR % o Sryan gfaen @ Rafq S oA & 9 srm|
3T ST-YRA® T U979 &1 &S 4. 68/0S/2, F= |A| |

(@) WU haw SN/ H ¥ By off, afy ey a @t T & S fopelt ww o # SR
T 9hd T

Hiul, AR, orafar, AU, By, &pa ofix R

HuAT IR-YRa1 # iy U gt ¥ o 6 oy few o § I fow W@ 2

(@) afy oo & ua ol & arfafve et o wror & S forad ¥, o weAT &l 993
¥ T arr Ffeat / Tafaat @ T daw smue R

NOTE / it :

(1) Answers of all questions are to be given in the Answer-Book given to
you.
et 9ol o ITR TR & Tl SR gRaent # & o |

(2) 15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to

02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

TH Y- i UG- & foIu 15 fire o1 wwg fedn 7 § | 99— @i foaor Saet
T 02.15 ot foram ST@m| 02.15 &t ¥ 02.30 &1 Tk S hadd Y- hl T
3R 39 mafy & SRE I SR-YRHT R HE W Tl foa@ii |
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(iii)
(iv)

v)

(i)

(ii)
(iii)
(iv)

v)

This question paper consists of 54 questions in all.

All questions are compulsory.

Marks are given against each question.

Section — A consists of :

(a) Q. No. 1 to 20 - Multiple Choice Questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with
02 sub-parts of 1 mark each). Attempt these questions as per the
instructions given for each of the questions 21 to 35.

Section — B consists of :

(@) Q. No. 36 to 46 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 47 to 52 - Short Answer type questions carrying 3 marks each to
be answered in the range of 50 to 80 words.

(¢) Q. No. 53 and 54 - Long Answer type questions carrying S marks each
to be answered in the range of 80 to 120 words.

T4 YU H A 54 U ¥

gy g9 orfrad ¥

Y% U9 & oih 3uh gmd 39U U ¥

GE—F F YT 39 YAR & :

(a) 9T W@ 19 20 T Tglamhedl U9 §, Ydsd 99T 1 3 & § | qaiftasw
SUge [qhed bl gMU aum 39 YeT gEd & dMe forey|

(b) UsT wE&m 21 § 35 O IgWE UeT &, UAd UeT 2 % &b 3|
(I % 2 g 9T Uh-Udh 3 & s)| 39 21 & 35 O% & WAl
@ 9% fag iy g fesi & ogER @ &ifgl

R -9 % YT 39 TAK &

(a) UsT €A 36 § 46 T% SNy ST YHK b TAD 2 bl b U |
et 3T 30 ¥ 50 o=gf ® fymm S R

(b) UsT HEAT 47 ¥ 52 T WY—IAT YBN b UAH 3 3l & YT & | foTeeht
IAX 50 9 80 gk ¥ fymm s %)

(c) 9T H&AT 53 qUT 54 H-IAX YR & YD S bl &b 9T ¥ | Riemr
SaT 80 § 120 gi<Ef ® fEmm &m g
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SECTION - A
gogs — A

1  Which of the following statements is correct? 1
(A) Durable use producer goods get depreciated after continuous use.
(B) Economic goods can be bought in the market.
(C) Private goods are privately owned.

(D) All of the above

frfafad o 9 @M a1 HoA T8l &7

(A) TEIERT IAEE aEgell F AR SUAN ¥ SHE! R o ol ¢ |
(B) o aigd IR H @Rl S dehdl 2

(C) Tl o el @i & Bl 21

(D) ®UX & Il

2 When a mother cooks dinner, it is an example of : 1
(A) Free goods (B) Free service
(C) Economic goods (D) Economic service

S Ueh AT @HT 990! &, o 98 S §

(A) & a% B (B) g e @&l
(C) onfe axg & (D) onfae dar &
3 Suppose you are a producer. In which of the following situations you will 1

expand your productive capacity?
(A) Production > Consumption (B) Production = Consumption
(C) Production < Consumption (D) None of these

A AT 6 3T e Scaesd & | = § O fha otaRem ¥ onu Sue e &Edn
CARSIDE B4

(A) IEET > TGHM (B) IdET = ITH
(C) AR < SUHM (D) = ¥ B3 &l
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4  Production units located in the country and owned by the residents of the 1
country are called :

(A) Private production units (B) Indigenous production units

(C) Government production units (D) Foreign production units

fepdy 291 ¥ Rera A SareH Iwgar S 39 29 & Frenya & @it ¥ gl €, 39 ®ed § ¢

(A) frell Sere gebral (B) =Xq Swred sehrEdl
(C) GBI IET 1Al (D) fadsh Scares gargar
5  Minerals and Metals Trading Corporation (MMTC) is an example of : 1
(A) Foreign production unit (B) Co-operative society
(C) Public sector undertaking (D) Private non-profit organisation
g1 9 @Sl AR M e T e & 7
(A) ol SaET 3o (B) wemrdl afufa
(C) wrEwii+e & IUHH (D) foeil fR—awarl e
6  Costs which are compulsory and have nothing to do with the amount of 1
production of the goods and services are called :
(A) Variable cost (B) Fixed cost
(C) Implicit cost (D) Explicit cost

J AT SN SAER A1 Bl § Wik e awgetl Td darel b Iced WX 9 iy oAl
S e BTl S wEd ©

(A) uftedt @ (B) Rex wrm
(C) s |rTd (D) @ «r
7  Which revenue of the following is the same as price of the commodity? 1

(A) Total Revenue (B) Average Revenue

(C) Marginal Revenue (D) None of these

frrfafad & & @9 |1 SIFM a%g & HFd & 99 8 7

(A) P o (B) i s

(C) dmra e (D) 9 & g T
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8 If 70 units of output are produced and the total fixed cost (TFC) is ¥ 250 1

along with total variable cost (TVC) of I450, how much will be the average
cost (AC) of the production?

gfs fopdl axg @ 70 IHEAT B SR BT & 3K Iud pa Rex @ (TFC)
250 % & o 91 &1 SHant pa uikaal @ (TVC) 450 T 7, df et Sirad Iaared
@ (AC) fepaer &Ry ?

(A) X770 (B) T 50
(©) <20 (D) T 10
9 A system of exchange where there is no involvement of money is called : 1
(A) Barter system (B) Monetary system
(C) Either (A) or (B) (D) Neither (A) nor (B)
fatrrr @1 a7 womer fad go1 @1 Suam SE g, SH @Ed |
(A) =g ot gomelt (B) HaT Yurat
(C) =mar (A) ar (B) (D) Fdr(A) &R 7 & (B)
10 Revenue from sale of goods is determined by : 1

(A) Price of the goods = Quantity sold in the market
(B) Price of the goods x Quantity sold in the market
(C) Price of the goods — Quantity sold in the market
(D) Price of the goods + Quantity sold in the market
fordll axg @1 fool @ Wi w1 fraiRw B ©

(A) I B HF = TG A T4 T3 AT

(B) a& &l &Wd x SR # 99 T3 AT

(C) a&g & &HWd — IR H Sl T3 /=1

(D) a& @ HHd + IR A T4 TS AT

11  Functions of a bank are : 1
(A) Giving loans (B) Accepting deposits from the public
(C) Keeping valuable materials (D) All of these
Tch ¥& & B % :
(A) FI Bl < (B) @R & S 9T BT
(C) Teaa™ a&gall &l @l (D) ¥ Td
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12 Which bank is the head of the banking system in India? 1
(A) State Bank of India (B) Reserve Bank of India
(C) ICICI Bank (D) Industrial Development Bank of India

qRa & B9 S SfehT gaen & ey &7

(A) w2 ¥ (% Ifear (B) fod §& e 3fEan
(C) ors.di.ems.dh.omE. ¥% (D) "R siEfe e @
13 If a bank received a deposit of ¥ 10,000 and it gave a loan of ¥ 8,000 1
to a borrower, how much will be its secondary deposit?
(A) ¥ 10,000 (B) ¥ 8,000
(C) % 18,000 (D) None of these

g & S 10,000 T 591 & Y H Ui wIar & A% fREr %o @ 8,000 T @1 F
AT T 3T fadae T iy fhder Bl e

(A) 10,000 (B) < 8,000
(C) T 18,000 (D) 39 ¥ B3 &
14 Minimum amount required to establish a small scale industry : 1
(A) T 15 lakh (B) I 20 lakh
(C) T 25 lakh (D) % 30 lakh

T WY TR h1 WAT &6 [0 gAaq ga=r T B Sagashdl gl §
(A) T 15 @@ (B) T 20 wr@

(C) T 25 @@ (D) T 30 @@
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15 Indian exports reach which country among these countries?

(A) Britain (B) US.A.

(C) U.ALE. (D) All of these
frrfafad & @ f6 doff & W Frafa gar & 7

(A) faes (B) €gF TS ST
(C) dge 3T 3R (D) U & gl

16 Which sector out of the following is attracting funds from foreign countries?

(A) Primary sector (B) Secondary sector
(C) Service sector (D) None of these
frrefafad o 9§ -1 a5 faRe | Bl Bl SAHTT B & 7
(A) wrathe &= (B) f&dos &=

(C) @ar & (D) ¥ & &g T

17 Causes of habitat degradation are listed below :
1.  Urban expansion of natural habitats
2. Solil erosion and desertification
3.  Deforestation
4.  Slashing agricultural methods
Find out correct option :
(A) Only 1 and 3 are correct. (B) Only 2 is correct.
(C) Only 1 and 2 are correct. (D) All are correct.
Ui STaTd & 6ol & RO A o T 8
1. i smemdl & T | faen
2. g & B g FHADT

3. T B Berg

4. A S By fafta

gl fqeed g -

(A) FHad 1 3R 3 & 2 (B) Faw 2 @& B
(C) aw 1 3 2 ¥& %) (D) o & ¥l
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18

19

20

68/0S/2—214-A | 9 AU

Which of the following Acts applies to all goods and services?
(A) Essential Commodities Act

(B) Consumer Protection Act

(C) Prevention of Food Adulteration Act

(D) None of the above

7 9 | s sttt a v axge ol derstl ® @r B § 7
(A) e a5y sitatww

(B) SuHiern €@xequr sty

(C) w@m vty freree iy sifufas

(D) T ¥ ¥ &5 T

The number of District Consumer Forums in the country :

39T § foTelr SUMieT ®IRH &) e fhae & 7
(A) 402 (B) 508

(C) 604 (D) 710

Which of the pollution given below disturbs the natural food-cycle?

(A) Air pollution (B) Water pollution
(C) Noise pollution (D) None of these

1 & | SF-—91 YgUI Whiae @ @ § STEr ugard © 7
(A) arg qge (B) =@ wguw

(C) st g (D) ¥ ¥ B T

[ Contd...



21 State whether the given statements are True or False : 2
(A) Transfer of services is not possible.
(B) Consumer goods help in producing other goods.
gary & M= ¥ ™ wuF w8 € a1 T
(A) Hersfl &l SRR § e el & |

(B) SUHieRT TgE S aEgell & Sed ¥ TErd el ¥ |

22 Fill in the blanks : 2
Both and entrepreneurs may produce public goods.
g @ wfw .
3 SEHl T |IESe JEgSl Bl IET BT Tohd ¢ |
23 State whether the given statements are True or False : 2

(A) Demand for those goods increases which are in Fashion.

(B) Demand for a commodity is directly related to the price of its
complementary goods.

garzu 6 1 R ™ wuw @@ ¥ W e
(A) 37 IEgatl & A Tedl & WAl By H &
(B) forel axg &l ART Id! Wb IR Bl DFd § Y& €9 9 Grad sl

24  Fill in the blanks : 2
curve is a diagrammatic representation of demand.
T @ ‘qﬁ'q :
o6 AT & EARG RGN CEU I
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26

27

25 Fill in the blanks : 2
is measured at a particular point of time whereas is measured
over a period of time.
e o i -
. e g WM AW W@ ¥ WEfe Ue 999 ofafy ux AT
ST B |
Complete the following table : (assuming there are only 2 firms M and 2
N in the market)
Price of Quantity Supplied of Chairs
Chairs ) Firm M Firm N Market Supply
100 — 350 400
200 100 — 800
400 200 1050 —
500 - 1300 1600
e anferest &1 QU @< (W AT R e A Faw & wH M SR N F)
F A FA A gfq H A
Fma ( #) M M w N IR i
100 — 350 400
200 100 — 800
400 200 1050 —
500 — 1300 1600
Fill in the blanks : 2
Secondary data may exist in its unpublished form as reports of the
government and reports of the students.
g @ wfw .
SR fEdiiad aiichs TXHT & e o feentérat & frard &
9 H & ad |
State whether the given statements are True/False : 2

28

(A) Items are shown individually in the discrete series.
(B) Discrete variable has a specific value/measurment.
qat 6 = % 98 € O e ¢
(A) =afrrTa &9 § 93l HI fafess (sraq) s@er o 9 S $1
(B) fafesw (smaq) =X & fafiee qwa/¥m9 2 2|

68/0S/2—214-A |
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29 Fill in the blanks : 2

Arithmetic mean is obtained by the sum of the items by the
of items.
e o i -
Y AT 9al % SIS Bl Hal bl g HT YT fpan ST
30 Fill in the blanks : 2
If weekly consumption of rice by Mr X is 2.1 kg, his average daily consumption
is and 10 days consumption is kilogram.
g @ wfw .
3 A1 X' % AT B ATAIeDh STHNT 2.1 A &, a1 el ufifed &l of|d @ud
3R 10 i &1 @ua fepeTram B |
31 Write one word answer for the following : 2

(A) Which production activity of the secondary sector is a regular activity
seen in urban areas?

(B) Which occupation is predominant in the primary sector?

= &1 e 9= ® IOX fefau

(A) fade a5 o D81 Iaed fhar ol ¥ faftha &9 8 <@l S @ ?
(B) ®N—d1 e wafte §Fe ¥ ye § 7

32 Fill in the blanks : 2
In terms of wages and salaries, ~ sector pays more than that of
sector.
e @ wfg
Tl o A % W § & b 4 e e
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33 Match the columns : 2
A B
(A) Multinational Corporations (i) Does not have democracy
(B) China (i1)) Education and health are of high quality
(iii) Emerged from USA

(iv) Agriculture is very advanced

wHl @1 e By
A B
(A) "gusda fm (i) e T E
(B) @ (il) =TT wWig fen ud @ne
(i) Hga T S H M
(iv) erfq syt Hi
34 State whether the statements given below are True/False : 2

(A) Buying of goods and services by domestic citizens from the foreign
countries is called exports.

(B) Through trade people get a lot varieties of goods and services.
FaEy f6 F wa @@ € a1 Td

(A) Y T T RRs & agel ok del @ wa Pt wee
(B) =mMR ¥ @M fafi= v &1 axgel &l w< & | |

35 Fill in the blanks : 2
The consumers should not indulge in and consumption.
e o i -
SuHiGRTe Bl @R T SUHMNT WEl AT aifeu|
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SECTION - B

gog — q

36 Distinguish between 'land' and 'labour' as factors of production. 2

SAUET % WU b ®Y H R iR ‘9 % 99 oIk Saisy |

37 Explain the production process. 2
IATET UihAT i ATl HifeTy |
OR / 3ty

Explain how the firms and industries are the source of employment to the
people.

el B fh hY ®H ST SANT @l ®l SR Y& & & &id o |

38 How does the income of the buyer affect the individual demand for a 2
commodity?

hdl 1 ST fpdl g 1 ATRTTT ART Bl BH YHITIT B o 7

39 Explain the 'store of value' function of money. 2
I % e g9 B Bl ATl B |
OR / 3ty

Explain how money is exchanged in the form of currency notes and coins.

o fope g A BEr A’ iR Rl # aen war & 7 e s

40 How is indirect investigation method different from direct personal 2
investigation?

e STHYN Aty g AfRrTa oray fafy & &y = g7

41 Draw a four-bar simple bar diagram marking axes clearly. 2

T T TUS| B XA I0S [ g9 OfR Iak &l Hl wWeed: sifhd HY|
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42

43

44

45

46

47

48

Which production units are included in the secondary sector? 2

fadas eote o fh Sces gedl &l 9N fhar Sar & 7

"Trading activities are integral part of the economy'. Explain. 2
AR &I Tafafal quied | srdegerer &1 wr ¥ e #il
How does the environment sustain life by providing biodiversity? 2
AR S fafqedn gR1 &Y SaT @l =i S @ ¢

OR / 3t

How does pollution adversely affect the health of living beings?

TGWYT Sifad WINTAl & e Bl el PUHITT BT & 7

Explain the need for 'consumer awareness'. 2
YT SITEHAT Dl HATEIehd I AT BT
OR / 31y

Explain the 'Consumer Redressal System' in India.

qRa § “Iudear e Harer yenel’’ @ Earedn sitag |

What do you mean by 'Recycling'? Explain how it can contribute to sustainable 2
development.

YAAHIGI F Y RN T ¢ ¢ AT B (b Tg gRoid g § e qerdh &l
ehdT 2|
OR / 3y

How does the judicious use of resources contribute to sustainable development?

AT BT iR JarT grens fae # fhd Y aNee &t § 7

"There is no time gap between the production and consumption of services 3
but there is time gap between the production and consumption of goods'.
Explain.

Harel b IUET X IHH SUART § GHI ST el Bl ich] a3l & Sed1ad

3R TEH ITURT H THI STIUA eIl &I ATl Hieg |

Define 'entrepreneurship'. What are the qualities of an entrepreneur? 3

‘Fegefidar & qior AT Te Sadl H eF-dr fasivand g )
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49

50

51

52

53

54

Explain the concept of 'Process based division of labour' with the help
of a suitable example.

‘gispar Senyd ST B TN Bl ATET U 3aTE I &I BT |
OR / 3ty

Distinguish between 'labour-intensive technology' and 'capital-intensive
technology'.

‘FH TEA BB SR YN Ted qhribl & A ST W DT |

Suppose you are unemployed and living in an urban area. You want to be
self employed by starting your own business. Which bank will you approach
for taking a loan? Explain.

A WY o 319 ISR § ST 98 3a1h H T&d & | 319 379+ Hadrd &l & Bih
Ueh WS 971 ATed & | oMY fohe §6 & U 1 9T i & fold ST 7 =aren
BT |

'Statistical data are always quantitative in nature'. Do you agree? Give example.
Wi aids! & WET FHIM ASHEG il ¢! 1 A9 3§ 91d d Te9d © ¢
SEE AT

OR / 3ty
'Data is collected for a pre-determined purpose'. Explain.

‘Hipsl & WIE THh qE- Wi 597 & o fean s &1 = S|

'Habitat degradation leads to a reduced carrying capacity of that area'.
Explain.
il ATETH & =B § I8 & Sl G0 &A1 %A Bl & | AT DI

Prepare an imaginary demand schedule of a consumer based on five prices
clearly bringing out the operation of Law of Demand.

U Bl 9T TG A 1 EH q9d §Y Ueh SUHAT HI dBediTh [T il
EEIRY

What procedure is followed for filing a complaint as a consumer? Explain.
T SUHIGT & ©Y H B IS BT DI T URKAT SUATE Sl § 7 GHIEY |
OR / 3ty

What role is played by the NGO's in helping the aggrieved consumer?
Explain.
Gifsd STHIGRT Dl TS b T T AT WS T qfHewT 3TaT Bl & ¢ TSRy |
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This Question Paper consists of 54 questions and 16 printed pages.
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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 68/0S/2, Set |B | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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AT 39T -

1

2

el Y9 —F % U Y5 UX YUl S orasd fod |

FUAT YT Bl AT & b UT-UT b HA YS! qUT Y Bl Ia! & WA @ fAaAr gem
U3 % G99 HUI BU &1 39 91 bl G W B o B YT s €9 H |

JEgrs geet & Ul A faaedt (A), (B), (C) @91 (D) H & $1E TF A AT & aq° &
T SA-gRaH § 39 Hel A Bl W@ 5|

JEIFTss el % wrg—|re adl gel & A e oty & Hiax & < €1 aggirss et
% fog ot @ wwg @ fean s

SA-gRae ¥ wEaH-fag S stuan i Wt & sifafea w2l srwaie faay X
T B ST SETAT SR

UeTaS # el T YR % o Sryan gfaen @ Rafq S oA & 9 srm|
3T ST-YRA®T T U799 &1 &S 4. 68/0S/2, ¥ |B| W |

(@) WU haw SN/ H ¥ By off, afy ey a @t T & S fopelt ww o # SR
T 9hd T

Hiul, AR, orafar, AU, By, &pa ofix R

HuAT IR-YRa1 # iy U gt ¥ o 6 oy few o § I fow W@ 2

(@) afy oo & ua ol & arfafve et o wror & S forad ¥, o weAT &l 993
¥ T arr Ffeat / Tafaat @ T daw smue R

NOTE / it :

(1) Answers of all questions are to be given in the Answer-Book given to
you.
et 9ol o ITR TR & Tl SR gRaent # & o |

(2) 15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to

02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

TH Y- i UG- & foIu 15 fire o1 wwg fedn 7 § | 99— @i foaor Saet
T 02.15 ot foram ST@m| 02.15 &t ¥ 02.30 &1 Tk S hadd Y- hl T
3R 39 mafy & SRE I SR-YRHT R HE W Tl foa@ii |
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Time : 3 Hours]

g : 3 9]

ECONOMICS
YA
(214)

[Maximum Marks : 100

[qurie : 100

Note :

fdar :

(i)

(i)
(iii)
(iv)

v)

(i)

(ii)
(iii)
(iv)

v)

This question paper consists of 54 questions in all.

All questions are compulsory.

Marks are given against each question.

Section — A consists of :

(a) Q. No. 1 to 20 - Multiple Choice Questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with
02 sub-parts of 1 mark each). Attempt these questions as per the
instructions given for each of the questions 21 to 35.

Section — B consists of :

(@) Q. No. 36 to 46 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 47 to 52 - Short Answer type questions carrying 3 marks each to
be answered in the range of 50 to 80 words.

(¢) Q. No. 53 and 54 - Long Answer type questions carrying S marks each
to be answered in the range of 80 to 120 words.

T4 YU H A 54 U ¥

gy g9 orfrad ¥

Y% U9 & oih 3uh gmd 39U U ¥

GE—F F YT 39 YAR & :

(a) 9T W@ 19 20 T Tglamhedl U9 §, Ydsd 99T 1 3 & § | qaiftasw
SUge [qhed bl gMU aum 39 YeT gEd & dMe forey|

(b) UsT wE&m 21 § 35 O IgWE UeT &, UAd UeT 2 % &b 3|
(I % 2 g 9T Uh-Udh 3 & s)| 39 21 & 35 O% & WAl
@ 9% fag iy g fesi & ogER @ &ifgl

R -9 % YT 39 TAK &

(a) UsT €A 36 § 46 T% SNy ST YHK b TAD 2 bl b U |
et 3T 30 ¥ 50 o=gf ® fymm S R

(b) UsT HEAT 47 ¥ 52 T WY—IAT YBN b UAH 3 3l & YT & | foTeeht
IAX 50 9 80 gk ¥ fymm s %)

(c) 9T H&AT 53 qUT 54 H-IAX YR & YD S bl &b 9T ¥ | Riemr
SaT 80 § 120 gi<Ef ® fEmm &m g
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SECTION - A

gug — A
1  When a teacher teaches in the class, it is an example of : 1
(A) Free service (B) Economic service
(C) Producer service (D) None of these
59 U [Ueh hem ¥ geldl B, O 9% 39 Wl Bl I&EA §
(A) H& Her (B) e S
(C) SwR® Ta (D) T ¥ g el
2 Which of the following statements is correct? 1

(A) Durable use producer goods get depreciated after continuous use.
(B) Economic goods can be bought in the market.

(C) Private goods are privately owned.

(D) All of the above

frfafad o 9 N a1 HoA T8l &7

(A) <rEOERT IOEE TGS b AR ST ¥ SHH! B & Sl ¢ |
(B) ot a&gd IR § WGl S Tehdll &

(C) foit o freit wnfir & 2t 21

(D) S & FHI

3 Production units which produce goods and services for sale in the market 1
with the aim of earning profit are called :

(A) Government production units (B) Foreign production units

(C) Private production units (D) Indigenous production units
SIS SHIAT Sl aEgatl ST TaTSHt 1 IUEA I § SIBL AT HAW b AT Bl
€, 39 ®ed &

(A) GBI IAET AT (B) faesh Scares samsar
(C) Froft S sebreat (D) =X S bl
4  Minerals and Metals Trading Corporation (MMTC) is an example of : 1
(A) Foreign production unit (B) Co-operative society
(C) Public sector undertaking (D) Private non-profit organisation
grd 9 @iel AR e e T e 7
(A) faesh ST s&rE (B) wear affa
(C) wrEwi+e & SUhH (D) =i IR—wver w@e
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5  Suppose you are a producer. In which of the following situations you will 1
expand your productive capacity?

(A) Production > Consumption (B) Production = Consumption
(C) Production < Consumption (D) None of these

A AT foh 81T Ueh Iaamees & | 1 & 9 fope ot ® oM 3799 Iaares &THan
CARSII BRI

(A) TJ@EEA > JUHFT (B) SdEA = SUHMT
(C) Semad < SqHRT (D) = @ ®Ig &
6  Cost of the self-supplied factors is called : 1
(A) Fixed cost (B) Variable cost
(C) Implicit cost (D) Explicit cost
Y d1EH %1 AN Bl Bed o ¢
(A) Rex @ra (B) uftadt @rm@
(C) o= |rTd (D) W= «ra

7  1f 70 units of output are produced and the total fixed cost (TFC) is ¥ 250 1

along with total variable cost (TVC) of 450, how much will be the average
cost (AC) of the production?

gfe fordl g @1 70 IHEAT H IR BT & X IFhl o Ry @ (TFC)
250 T ¥ ofk |ry €1 suat pot ikl @ (TVC) 450 % %, @ I8a! ofigd Samed
@ra (AC) fepa=t grm?

(A) 70 (B) ¥ 50
(C) 20 (D) X 10
8  Which revenue of the following is the same as price of the commodity? 1
(A) Total Revenue (B) Average Revenue
(C) Marginal Revenue (D) None of these
frrfafad & 9 @9 A A a& B HAd b G 7
(A) o amm (B) offem amm
(C) dmra e (D) 9 & g T
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9 Revenue from sale of goods is determined by : 1

(A) Price of the goods = Quantity sold in the market

(B) Price of the goods x Quantity sold in the market

(C) Price of the goods — Quantity sold in the market

(D) Price of the goods + Quantity sold in the market

fordll oy @l Tt & Wi o @ ey g

(A) I& B HFG = TR A TG T AR

(B) a& @l &HWd x g H 99 T AT

(C) a%g & BHFd — I § 97 T5 AT

(D) a&g @ HHd + TR A T T AT

10 Functions of a bank are : 1
(A) Giving loans (B) Accepting deposits from the public
(C) Keeping valuable materials (D) All of these
% S b BE T
(A) FoN BT AT (B) M § ST 9T BT
(C) Taa™ aggall &l @l (D) ¥ Tl
11 A system of exchange where there is no involvement of money is called : 1
(A) Barter system (B) Monetary system
(C) Either (A) or (B) (D) Neither (A) nor (B)
fatrrr @ a7 womel frad g1 @1 Suam FE g, 9§ wEd |
(A) =g fafrear some (B) & worreh
(C) ardr (A) am (B) (D) T (A) &R 7 & (B)
12 Indian exports reach which country among these countries? 1
(A) Britain (B) US.A.
(C) U.ALE. (D) All of these
frfafad & 9 f 3o 9 WA fafa e g 7
(A) fe= (B) dga g aTdie
(C) dge 3T 3R (D) SUX & 9w
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13 Which bank is the head of the banking system in India? 1

(A) State Bank of India (B) Reserve Bank of India

(C) ICICI Bank (D) Industrial Development Bank of India
IRd & -1 S SfehT yamem &1 fimew ¥ 7

(A) w2 ¥ % e (B) fod §& e 3fean

(C) oms.dr.emg. e, I% (D) ARGE irEife faem d@

14 Which sector out of the following is attracting funds from foreign countries? 1

(A) Primary sector (B) Secondary sector
(C) Service sector (D) None of these
et # ¥ HF-—91 &5 el & HIUl Bl B B & 7
(A) wafis &= B) flra® &=
(C) e &= (D) 3 & &g T
15 Minimum amount required to establish a small scale industry : 1
(A) T 15 lakh (B) I 20 lakh
(C) T 25 lakh (D) % 30 lakh
TH @Y FEN DI @A & T FATH a1 ORT B AELIHA Bl §
(A) T 15 @@ (B) ¥ 20 @@
(C) 25 @@ (D) T 30 @@
16 If a bank received a deposit of I 10,000 and it gave a loan of I 8,000 1
to a borrower, how much will be its secondary deposit?
(A) ¥ 10,000 (B) ¥ 8,000
(C) % 18,000 (D) None of these

gt ®E §o 10,000 I 591 & Y H Ui BIar & K fREr Fon @ 8,000 T @1 wr
31 | gEa fadEe s iR fepa sl ?

(A) T 10,000 (B) ¥ 8,000
(C) T 18,000 (D) 379 § @13 Tl
68/0S/2—214-B | 7 nmmmmwmmm [ Contd...



17  Which of the pollution given below disturbs the natural food-cycle? 1

(A) Air pollution (B) Water pollution
(C) Noise pollution (D) None of these
= 5 | SF—a1 YgUT Wihiae @ @ § STEr ugand § 7
(A) drg 9guo (B) et s
(C) wafT wgr (D) 7 ¥ ®ig
18 Causes of habitat degradation are listed below : 1

1.  Urban expansion of natural habitats

2. Soil erosion and desertification

3.  Deforestation

4.  Slashing agricultural methods

Find out correct option :

(A) Only 1 and 3 are correct. (B) Only 2 is correct.
(C) Only 1 and 2 are correct. (D) All are correct.
Ui SEd % FI6L & SRl A fl ™ 2

1. vplaes smemdl & TR H faen

2. ¥ @B ®HeE T SSTBI

3. Al @ B

4. @A wE iy fafa

el faeer g -

(A) FHad 1 3R 3 & 2| (B) Faw 2 @& B
(C) haa 1 3K 2 @& & (D) u+r = ¥l

19 Which of the following Acts was enacted to provide cheap and quick justice 1
to the consumers in the country?
(A) Prevention of Food Adulteration Act
(B) Essential Commodities Act
(C) Consumer Protection Act
(D) None of these
I H T A S SuHiee ® 9w Ud 9w = i % fag |ng
fopam T % 7
(A) @ e s sitafas
(B) e awg stfafem
(C) TuHiarn d@xequr sty
(D) s & &g T
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20 The number of District Consumer Forums in the country : 1

39T § foTelT ST WA ) & fhaer & 7

(A) 402 (B) 508
(C) 604 (D) 710
21 Fill in the blanks : 2
Both and entrepreneurs may produce public goods.
et wom Y -
3 SEMl I |IETe JEgel Bl IET BT Thd ¢ |
22 State whether the given statements are True or False : 2

(A) Demand for those goods increases which are in Fashion.

(B) Demand for a commodity is directly related to the price of its
complementary goods.

qarzu 5 1 R ™ wuw wE ¥ wr e
(A) 37 aEgstl & °F Fedl & Wl By H F
(B) Tordll g &1 AN IHT T a&gsll & HFd ¥ Yde §9 § &red sl 2|

23 State whether the given statements are True or False : 2
(A) Transfer of services is not possible.

(B) Consumer goods help in producing other goods.
gaEy {5 7 @ T wue @2 € a1 e

(A) Hamsil &1 SRR T el & |

(B) SUHERT TG T axgeAl b SEd H WEEH Bl § |
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24 Fill in the blanks : 2

Secondary data may exist in its unpublished form as reports of the
government and reports of the students.
fa @ Wi
AT fEciiadh dichs qXHN & frare o faenfémt & fare &
&9 H B Hebel B |
25 Fill in the blanks: 2
schedule is a presentation of different quantities of a
commodity supplied by a firm at different prices..
e Tl @ gfd @]
IO Ueh B &1 ThdT g @l fafa=T sial 98 &l 15 9d %l Ast @l
TERIABT 2 |
26 Fill in the blanks : 2
is measured at a particular point of time whereas is measured
over a period of time.
RCHIRSIE I IR
T T g 9 9 S § S« U GHY STy 9T AT
ST B
27 State whether the following statements are True/False : 2

(A) Mass data in its original form is called raw data.
(B) Attributes are difficult to be investigated in depth.
Saigy b = e wE € A e

(A) U9 &4 ¥ i3l b GE Bl bed Aihs Bed ¢ |

(B) TN @1 e SITHUN HIAT qihd Bl |

68/0S/2—214-B | 10 I - [ Contd...



28

29

30

31

Complete the following table :

N in the market)

(assuming there are only 2 firms M and

Price of Quantity Supplied of Chairs
Chairs (%) Firm M Firm N Market Supply
100 — 350 400
200 100 — 800
400 200 1050 —
500 — 1300 1600
e anferest &1 QU @Y (W ARTE R R A Faw & wH M eI N E)
FA A FA A g A AN
Fma (R #) w M i N TEAR I
100 — 350 400
200 100 — 800
400 200 1050 —
500 — 1300 1600
Fill in the blanks : 2
If weekly consumption of rice by Mr X is 2.1 kg, his average daily consumption
is and 10 days consumption is kilogram.
g @ wfw .
3R 4 X' & ITad B ATAIEdh SUHNT 2.1 fhaimT &, ot el ufafe @l of|d gud
3T 10 T 1 @ua Tt Bl |
Fill in the blanks : 2
Arithmetic mean is obtained by the sum of the items by the
of items.
g @ wfw .
QI AT 9&l % SIS Bl HaEl bl g HT T fepaT ST B |
Fill in the blanks : 2
In terms of wages and salaries, sector pays more than that of
sector.
o @ Wi
I SR Ia & AHAl | &h &% § S aar 1
68/0S/2—214-B | 11 I [ Contd...



32  Write one word answer for the following :

33

34

(A) Which production activity of the secondary sector is a regular activity

seen in urban areas?

(B) Which occupation is predominant in the primary sector?

1 & & g # I fafag

(A) T&das &=d & H—dl s fhar sl o afa v 9 <@ Sl & 7

(B) &1 e wafte &dFe § wE § 7

Fill in the blanks:

have become stronger and organised because there are
associations to protect their interest.

e e Wi

qrhdal X Gifed & T & H=ifh o T Ik Tt &l T

HE & |

Match the columns :

A
(A) Multinational Corporations
(B) China

w4l &1 e $ig ¢

(A) g™ A
(B) ==

68/0S/2—214-B |

B

(i) Does not have democracy

(i1)) Education and health are of high quality

(iii)

(iv) Agriculture is very advanced

Emerged from USA

B
() oA T ¥

(il) =T wWig e v @ne
(i) €gaa T B H M
(iv) e enyfe By

12 AU

[ Contd...



33

36

37

38

39

State whether the statements given below are True/False : 2

(A) Buying of goods and services by domestic citizens from the foreign
countries is called exports.

(B) Through trade people get a lot varieties of goods and services.
qasy fo = a8 ¥ 91 Twd ¢

(A) = ARTH@T g1 faaett & axgetl o "anel & %a Fafd weam 8|
(B) @MUR ¥ AR fafT= YR &1 awgstl & 9 & & |

SECTION - B

gog — q

Explain the 'store of value' function of money. 2

T % T AT B Dl AT B |
OR / 3y

Explain how money is exchanged in the form of currency notes and coins.

o fohe T | Bl e’ iR Rl ® ggen oan @ ¢ e s |

Distinguish between 'land' and 'capital' as the factors of production. 2

SRS & WEAl % B H G Td el % diE SR W Bt |

Explain the production process. 2
IR HihdT ! ATl BT |
OR / sy

Explain how the firms and industries are the source of employment to the
people.

e B o hY ®H ST SaT @l Bl UK YSH &t & aid o1

How is primary data different from secondary data? 2

wrafte dike fEdae stiws! ¥ e yaR =1 8id & 7

68/0S/2—214-B | 13 I - [ Contd...



40

41

42

43

44

45

46

Which production units are included in the secondary sector? 2

fadias &5 o 5 SE® Shedl &l e fhar Sar ¥ 7

How does taste, preferences and fashion affect the individual demand for 2
a commodity?

Bid, TOEar ad1 HeE o YR | T o dI AR AT Bl YT B 8 7

Draw a four-bar simple bar diagram marking axes clearly. 2

Ueh TIX TS| ol X IUS (O 9™ 3T IHKh 3elf bl Weea: sifchd e |

Explain the need for 'consumer awareness'. 2
SUHIRIT SRERAT %l ATAADHAT Dl AT DITT] |
OR / 3@t

Explain the 'Consumer Redressal System' in India.

aRd ¥ “Iudear Rerd FHarer gener’’ @ |Earen st |

"Trading activities are integral part of the economy'. Explain. 2

IR & Tafard quied ¥ Tferemar & v &1 @men &1 |

What do you mean by 'Recycling'? Explain how it can contribute to sustainable 2
development.

YAABIHI F Y RN T ¢ 7 AT B b Ig gy fabra § e gersd &
bl & |

OR / a1yt

How does the judicious use of resources contribute to sustainable development?

YHTEAT BT GloRa—dTd JaT grene faer # 68 Y aNee &l § 7

How does the environment sustain life by providing biodiversity? 2
TaTEer Sg-fafaedn a0 G/ e B G @i & 7
OR / sy

How does pollution adversely affect the health of living beings?

TGO ST WA % @RS Bl by HUHIGT BT § ¢

68/0S/2—214-B | 14 I - [ Contd...



47

48

49

50

51

52

Explain the concept of 'Process based division of labour' with the help 3
of a suitable example.

‘gispar SEMid SIS &I ATV B ATT U 3IaTE LI &I BT |
OR / 3@t

Distinguish between 'labour-intensive technology' and 'capital-intensive
technology'.

‘FH TEA BB SR YWl Ted qhrihl & S S W DT |

"There is no time gap between the production and consumption of services 3
but there is time gap between the production and consumption of goods'. Explain.

HATeT b IUEA X IHh START H GHI ST T8l Bl WichT TR b Sed1ad
3R TEh ITUNT H THA ST B ¢ ATl B |

'Statistical data are always quantitative in nature'. Do you agree? Give example. 3
Aifegara sfihs! 1 ©@Ed A A el ¢ F1 M9 39 91 § §eAd o ¢
JETEL A |

OR / 3@t

'Data is collected for a pre-determined purpose'. Explain.

‘sl & WIE TH qE- MG 3597 & o fpan <ian &1 = sl

How is production "Creation of utility"? Explain. 3

SAEA fhe YR SUAIRET &1 gee ¥ 7 usne|

Explain the major causes of soil degradation. 3

HaT YT &b H&F BRI bl ARAT DI |

Suppose you are unemployed and living in an urban area. You want to be 3
self employed by starting your own business. Which bank will you approach
for taking a loan? Explain.

A AT {6 T IS € 3R 9188 30eh # T & | 3T 3T FIH Bl & Bk
Teh WS ST AEd & | o9 T S o U1 T Wi i & fold SR 7 et
BT |
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53 What are the grounds for filing a complaint by the consumer?
SYHIRT ERT R1ehad 51 & & /T SMER & 7
OR / sy
What do you know about the 'Right to Consumer Education'? Explain.
JauieR fyre @ i | T Fr wHHd § 7 qEHAEy|

54 Prepare an imaginary demand schedule of a consumer based on five prices
clearly bringing out the operation of Law of Demand.

Uig Bl U ST AT BT FEH T 5T Uh SUHIGT HI BIedTh JIT qTieThl
TR

68/0S/2—214-B | 16 AU



This Question Paper consists of 54 questions and 16 printed pages.
39 9T & 54 997 71 16 gha q= ¥ |

Roll No. Code No. 68/0S/2
TFE HE .

set /¥ |C

ECONOMICS

ERFE=))
(214)

Day and Date of Examination

(wden = fom 7 fe=in)

Signature of Invigilators 1.

(Friverni & &wner)

General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 68/08/2, Set |(C | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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AT 39T -

1

2

el Y9 —F % U Y5 UX YUl S orasd fod |

FUAT YT Bl AT & b UT-UT b HA YS! qUT Y Bl Ia! & WA @ fAaAr gem
U3 % G99 HUI BU &1 39 91 bl G W B o B YT s €9 H |

JEgrs geet & Ul A faaedt (A), (B), (C) @91 (D) H & $1E TF A AT & aq° &
T SA-gRaH § 39 Hel A Bl W@ 5|

JEIFTss el % wrg—|re adl gel & A e oty & Hiax & < €1 aggirss et
% fog ot @ wwg @ fean s

SA-gRae ¥ wEaH-fag S stuan i Wt & sifafea w2l srwaie faay X
T B ST SETAT SR

UeTaS # el T YR % o Sryan gfaen @ Rafq S oA & 9 srm|
3T ST-YRAs® T 99797 &1 &S 4. 68/0S/2, #= |C| o |

(@) WU haw SN/ H ¥ By off, afy ey a @t T & S fopelt ww o # SR
T 9hd T

Hiul, AR, orafar, AU, By, &pa ofix R

HuAT IR-YRa1 # iy U gt ¥ o 6 oy few o § I fow W@ 2

(@) afy oo & ua ol & arfafve et o wror & S forad ¥, o weAT &l 993
¥ T arr Ffeat / Tafaat @ T daw smue R

NOTE / it :

(1) Answers of all questions are to be given in the Answer-Book given to
you.
et 9ol o ITR TR & Tl SR gRaent # & o |

(2) 15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to

02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

TH Y- i UG- & foIu 15 fire o1 wwg fedn 7 § | 99— @i foaor Saet
T 02.15 ot foram ST@m| 02.15 &t ¥ 02.30 &1 Tk S hadd Y- hl T
3R 39 mafy & SRE I SR-YRHT R HE W Tl foa@ii |
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[Maximum Marks : 100

[qurie : 100

Note :

fdar :

(i)

(i)
(iii)
(iv)

v)

(i)

(ii)
(iii)
(iv)

v)

This question paper consists of 54 questions in all.

All questions are compulsory.

Marks are given against each question.

Section — A consists of :

(a) Q. No. 1 to 20 - Multiple Choice Questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with
02 sub-parts of 1 mark each). Attempt these questions as per the
instructions given for each of the questions 21 to 35.

Section — B consists of :

(@) Q. No. 36 to 46 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 47 to 52 - Short Answer type questions carrying 3 marks each to
be answered in the range of 50 to 80 words.

(¢) Q. No. 53 and 54 - Long Answer type questions carrying S marks each
to be answered in the range of 80 to 120 words.

T4 YU H A 54 U ¥

gy g9 orfrad ¥

Y% U9 & oih 3uh gmd 39U U ¥

GE—F F YT 39 YAR & :

(a) 9T W@ 19 20 T Tglamhedl U9 §, Ydsd 99T 1 3 & § | qaiftasw
SUge [qhed bl gMU aum 39 YeT gEd & dMe forey|

(b) UsT wE&m 21 § 35 O IgWE UeT &, UAd UeT 2 % &b 3|
(I % 2 g 9T Uh-Udh 3 & s)| 39 21 & 35 O% & WAl
@ 9% fag iy g fesi & ogER @ &ifgl

R -9 % YT 39 TAK &

(a) UsT €A 36 § 46 T% SNy ST YHK b TAD 2 bl b U |
et 3T 30 ¥ 50 o=gf ® fymm S R

(b) UsT HEAT 47 ¥ 52 T WY—IAT YBN b UAH 3 3l & YT & | foTeeht
IAX 50 9 80 gk ¥ fymm s %)

(c) 9T H&AT 53 qUT 54 H-IAX YR & YD S bl &b 9T ¥ | Riemr
SaT 80 § 120 gi<Ef ® fEmm &m g

68/0S/2—214-C | 3 I - [ Contd...



SECTION - A

gog — A
1  When a doctor inspects his patient, it is an example of : 1
(A) Consumer Service (B) Producer Service
(C) Free Service (D) None of the above
S9 T Sl 30T HUS BT FO&0 &ar &, af 98 39 9 Bl U SaeX & ¢
(A) SUHWERT Ha (B) S@E® ar
(C) qw ga (D) SUwT H F B3 A
2 Suppose you are a producer. In which of the following situations you will 1
expand your productive capacity?
(A) Production > Consumption (B) Production = Consumption

(C) Production < Consumption (D) None of these
A WIS f6 T Ueh Scree | i o & fopg oraRen & N9 o+ Sdmed &war
Dl TG 7

(A) J@EEA > IUHFT (B) I@EA = SUHFT
(C) AT < JUHM (D) = ¥ B3 &l
3 Production units which provide services mainly to serve the members of 1

the society as a whole are called :

(A) Private Non-profit Organization (B) Government production unit

(C) Private production unit (D) Indigenous production unit

T%h SARH h5 ol G919 &b G4 GeQl B G99 ®9 ¥ ol Y& &Il §, df 39
HEd ©

(A) Pl fR—amwerr ween (B) W@ SWRA 30T
(C) fsll ST 3@13 (D) = SAET THE
4  Which of the following statements is correct? 1

(A) Durable use producer goods get depreciated after continuous use.
(B) Economic goods can be bought in the market.

(C) Private goods are privately owned.

(D) All of the above

frfafed & & &N a1 BUT T2 &7

(A) <raToErl IaEs aEge b AR ST ¥ SHE! EEM & Sl ¢ |
(B) ot awgd I § W&l S gehdl & |

(C) o s Froht wfirer ¥ B ¥

(D) U & G
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5  Profit is calculated by the formula : 1
(A) TR —TC (B) AR - AC
(C) MR - MC (D) None of these
@Y &b STbAT B G §
(A) @ @ (TR) — $et @ (TC)
(B) sfad o™ (AR) — &f|d @ (AC)
(C) dmra o™ (MR) — @9 @ra (MC)

(D) T ¥ ®ig T
6  Minerals and Metals Trading Corporation (MMTC) is an example of : 1
(A) Foreign production unit (B) Co-operative society
(C) Public sector undertaking (D) Private non-profit organisation
g1g 9 @iisl @R e g e 3 & 7
(A) sl ST soE (B) wearl wfif
(C) wdreisiiven &5 IUhH (D) st IR—erHebrl e
7  Functions of a bank are : 1
(A) Giving loans (B) Accepting deposits from the public
(C) Keeping valuable materials (D) All of these
Tch ¥& & B % :
(A) FoN BT AT (B) M § ST 9T BT
(C) ¥ega™ agall &l @ (D) ¥ =
8 A system of exchange where there is no involvement of money is called : 1
(A) Barter system (B) Monetary system
(C) Either (A) or (B) (D) Neither (A) nor (B)
fatrr @1 a7 womer fTEH G511 Sua FEl e, SH ®eEd &
(A) =g fafm o (B) & worreh
(C) ardr (A) am (B) (D) Fdr(A) &R 7 & (B)
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9  Which revenue of the following is the same as price of the commodity? 1

(A) Total Revenue (B) Average Revenue
(C) Marginal Revenue (D) None of these
Prefefiad & ¥ B @ o 9 B BT F wHH B

(A) g sm™ (B) &irad smm

(C) dmr am (D) % ¥ @i T

10 If 70 units of output are produced and the total fixed cost (TFC) is ¥ 250 1
along with total variable cost (TVC) of I 450, how much will be the average
cost (AC) of the production?
gfs fopdl axg @ 70 IHEAT B SURAT BT & S Iud pa Rex @ (TFC)
250 % & o 91 &1 SHant pa uiiaal @ (TVC) 450 T 7, df SHant sirad Saared
@ (AC) fepaer &Ry ?

(A) %70 (B) ¥ 50
(C) T 20 (D) %10
11 Revenue from sale of goods is determined by : 1

(A) Price of the goods = Quantity sold in the market
(B) Price of the goods x Quantity sold in the market
(C) Price of the goods — Quantity sold in the market
(D) Price of the goods + Quantity sold in the market
foredt axg @1 fo @ W e @1 frefRor gk ®

(A) I& B HHT = TR A T T AT

(B) a& @ ®HWd x g A 99 T AT

(C) a&g &l &HWd — IR ¥ Sl T3 /=1

(D) =g @ HHd + IR H = TG A

12 Minimum amount required to establish a small scale industry : 1
(A) T 15 lakh (B) ¥ 20 lakh
(C) T 25 lakh (D) % 30 lakh
T WY JEN B WA b T gAH A AT B SIagIsmhdl sl §
(A) T 15 @@ (B) 20 @@
(C) 25w (D) T 30 @@
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13 Which sector out of the following is attracting funds from foreign countries? 1

(A) Primary sector (B) Secondary sector
(C) Service sector (D) None of these
frrfafad o 9§ a1 &5 Rl | Bl Bl SAHTT B & 7
(A) wrafies & (B) fedia® a5
(C) ¥ar &= (D) ¥ & &g T
14 Which bank is the head of the banking system in India? 1
(A) State Bank of India (B) Reserve Bank of India
(C) ICICI Bank (D) Industrial Development Bank of India
R H -1 §% T =gawen &1 fimax &7
(A) wWe d& % e (B) fod §& e 3fean
(C) oms. 4. o7 6h.oms. 9% (D) ¥RdE iRt fawm I
15 If a bank received a deposit of I 10,000 and it gave a loan of ¥ 8,000 1
to a borrower, how much will be its secondary deposit?
(A) 10,000 (B) T 8,000
(C) % 18,000 (D) None of these

g &% S 10,000 T 581 & Y H YT wiar & A% fREr %o @ 8,000 T @1 FO
AT T 3T fadae s iy fohd=T B e

(A) 10,000 (B) T 8,000
(C) T 18,000 (D) 39 ¥ B3 &
16 Indian exports reach which country among these countries? 1
(A) Britain (B) U.S.A.
(C) U.ALE. (D) All of these
frafafed & @ foo 3o & WA faia e 57
(A) faes (B) dgad ToT ST
(C) dga 3T 3R (D) U % Il
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17 The number of District Consumer Forums in the country : 1

39T A TS SuHiedt w9 & g fhasr & 7

(A) 402 (B) 508
(C) 604 (D) 710
18  Which of the pollution given below disturbs the natural food-cycle? 1
(A) Air pollution (B) Water pollution
(C) Noise pollution (D) None of these
= 5 | SF—91 YgUU Wihiae @ @ § STEr ugand © 7
(A) g Tgu (B) =& wguul
(C) et wgwr (D) = @ @ix &
19 Causes of habitat degradation are listed below : 1

1.  Urban expansion of natural habitats

2. Soil erosion and desertification

3.  Deforestation

4.  Slashing agricultural methods

Find out correct option :

(A) Only 1 and 3 are correct. (B) Only 2 is correct.
(C) Only 1 and 2 are correct. (D) All are correct.
Ui SEd % MBI & SRl A o ™ 2

1. i smemdl & T H fawn

2. g & B g FSHADT

3. T B Bers

4. @A wEr iy fafy

gl faemed g -

(A) FHad 1 3R 3 & 2 (B) Faw 2 @& B
(C) Faa 1 3R 2 & %) (D) & ¥ |
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20  Which consumer court is at the top in India? 1
(A) District Consumer Forum
(B) State Consumer Disputes Redressal Commission
(C) National Consumer Disputes Redressal Commission
(D) None of the above
ARG o ofY IUHIeRT STeed BiF a1 & 7
(A) ST SuHieR ®IRA
(B) T SUHIETT foang SXavr e
(C) T Iusiien foae EXare SmanT
(D) SWEd ¥ ¥ &5 el

21 State whether the given statements are True or False : 2
(A) Demand for those goods increases which are in Fashion.

(B) Demand for a commodity is directly related to the price of its
complementary goods.

garzy 6 e R ™ wuw wE ¥ ar e
(A) I I3 B AT Fodl & WAl B F B
(B) fordll axg &l ART I9d! Wb IESH Bl DFd § Y& €9 9 Giad sl 1

22 Fill in the blanks: 2
quantity of a commodity supplied by all the firms in the market at the
given price is called supply of the commodity.
e e sl -
IR # |F9 BAEF g1 fopdT Fiyea dMd 9 g @ T3 fRdT a%g @ T
a?r R wed
23  Fill in the blanks : 2
Both and entrepreneurs may produce public goods.
e = s
3R STl ST TeSIe aEall ® ST BT ghd | |
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24 State whether the given statements are True or False :

25

26

(A) Transfer of services is not possible.

(B) Consumer goods help in producing other goods.
garu fh = i ™ v 98 ¥ 91 T ¢

(A) Haren &1 T T9a &l 7 |

(B) SUHERT TG T axgeAl &b SIEd H WEEd Bl § |

Complete the following table : (assuming there are only 2 firms M and
N in the market)

Price of Quantity Supplied of Chairs
Chairs ) Firm M Firm N Market Supply
100 — 350 400
200 100 — 800
400 200 1050 —
500 — 1300 1600
e anferest &1 QU @Y (W AT R R A Faw & wH M SR N E)
4 A FA A T A T
FwRH | WM w4 N TR
100 — 350 400
200 100 — 800
400 200 1050 —
500 — 1300 1600

State whether the following statements are True/False :

(A) In inclusive series frequency corresponding to the upper limit of the
group is included in the same group.

(B) Beauty and intelligence are examples of an attribute.

Farzy fop 9 i ™ wuF 98 € A1 T
(A) TEET @A 9 GE B HUA AT Bl g B U GYE § oA e

ST B

(B) g=xarl X gfg T (attribute) % I T
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27

28

29

30

31
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Fill in the blanks :
is measured at a particular point of time whereas is measured
over a period of time.
e o i -
U 99 g WX 9191 S 7 S« U 99T Ay 9T "9
ST 1
Fill in the blanks :
Secondary data may exist in its unpublished form as reports of the
government and reports of the students.
e o i -
STIHIC T&ciiadh ks TXBIX & frare o faenfémt & e &
9 ¥ & ad ¢ |
Fill in the blanks:
A consumer is directly to the people.
fraa wm «ftw
TH U AR % 9fd gaE w4 " 2
Write one word answer for the following :
(A) Which production activity of the secondary sector is a regular activity
seen in urban areas?
(B) Which occupation is predominant in the primary sector?
= &1 T# 9= # SR fafay ¢
(A) fedas &9® o DA I fhar sl o ok &0 9 <@l S 5 7
(B) ®N—4T ad™d Wafes a5 | ygE 7
Fill in the blanks :

Arithmetic mean is obtained by the sum of the items by the

of items.

g @ wfw .

QI AT 9&l % SIS Bl &l dl g HT T fepaT ST B |




32 Fill in the blanks : 2

If weekly consumption of rice by Mr X is 2.1 kg, his average daily consumption
is and 10 days consumption is kilogram.

e @ wf
R A1 'X' % AT Bl Ardied ST 2.1 fhammy 3, af Sga fafes &l 3iad @ud
R 10 foq o @uq fepeum 2|

33 State whether the statements given below are True/False : 2

(A) Buying of goods and services by domestic citizens from the foreign
countries is called exports.

(B) Through trade people get a lot varieties of goods and services.
qasu fo = a8 ¥ 91 Td ¢

(A) = T g fase @ awgett ot Semstt @1 w9 Frafq #eam 2|
(B) @MUR ¥ AN fafe= g &1 awgstl & 9 Hd & |

34 Fill in the blanks : 2
In terms of wages and salaries, sector pays more than that of
sector.
fa wm i
gl iR A B A o o & e B
35 Match the columns : 2
A B
(A) Multinational Corporations (i) Does not have democracy
(B) China (i1)) Education and health are of high quality

(iii)) Emerged from USA

(iv) Agriculture is very advanced

wHl &1 faE By
A B
(A) g frm (i) wa W &
(B) (i) o wiw e v @we
(ili) Hg&T T BB G R
(iv) st emyfd piv
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SECTION - B

gug — q

36 Explain the production process. 2
IATET UihAT i TRl SHifeTy |
OR / 3t

Explain how the firms and industries are the source of employment to the
people.

el B o hY ®H ST SAT @Il Bl SR Y& i & &id o |

37 How does the price of related goods affect the demand for a commodity? 2

fordll g &1 AT @ FErEd aE B DA [Bd B THIIT BT & ¢

38 Explain the 'store of value' function of money. 2
T & T §9d B bl AT DI |
OR / 3t

Explain how money is exchanged in the form of currency notes and coins.

a1 fpd YR ¥ ‘BREr A’ iR el § Saar Sar @ 7 e Sk

39 Define factor payments. Who pays them? 2
A A I GICATNG HIRTT | ST A DA &I & 7

40 Draw a four-bar simple bar diagram marking axes clearly. 2

T 9 TUS| B XA I0S O TSI Iuk @l Hl wWeed: sifhd He|

41  Which production units are included in the secondary sector? 2

fadias &5 o 5 SE® Sheal &l Nt fhar Sar B 7
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42 How is mail questionnaire method different from collecting data through 2

schedule?

SAienst & "o 9 Sl UgTEal fary, STger fafn & fed g =1 & 7

43 How does the environment sustain life by providing biodiversity? 2
AR Sa—fafaedr a1 &9 Siad @l 9iid S @ ¢
OR / 31y

How does pollution adversely affect the health of living beings?

YU SHifad W % @R B H UG BT & 7

44 What do you mean by 'Recycling'? Explain how it can contribute to sustainable 2
development.

YAADIBT Y Y R TS & 7 AT B b I8 i faera # 9 wers ©
bl &1

OR / a1yt

How does the judicious use of resources contribute to sustainable development?

ETEAl BT iR YA 9RO e § fhe Y ane™ ol § 7

45 'Trading activities are integral part of the economy'. Explain. 2

AR &l Tafafial quied & sTefegeren &1 wrT & e &Yl

46 Explain the need for 'consumer awareness'. 2

IUISAT STl i STl i AT BT |
OR / 3@t

Explain the 'Consumer Redressal System' in India.

qRa § IuHer R Farer gener’’ @l |aren st |
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47

48

49

50

51

52

Suppose you are unemployed and living in an urban area. You want to be 3
self employed by starting your own business. Which bank will you approach
for taking a loan? Explain.

A AT {6 T IS & 3R 9188 3oeh # & & | 319 31U FIHT Bl & BLch
Teh WS ST AEd & | 39 6T §b o U1 T Wi i o (o0 ST 7 et
BT |

Explain the effects of noise pollution. 3

€T UGWIT % YHTE! Bl ST DI

"There is no time gap between the production and consumption of services 3
but there is time gap between the production and consumption of goods'. Explain.

HareTl b IAET ST IHD START § GHI ST &l Sl ich] a3 o Sed1ad
3T IHH IUHN § THY STIUA BT & AT BIfd |

'Statistical data are always quantitative in nature'. Do you agree? Give example. 3

‘Hitegard sTichel & W& THIM HEMHG & &1 o1 oY 39 919 § TeAd ¢ ¢
TETET T

OR / 31y
'Data is collected for a pre-determined purpose'. Explain.

‘Afieps! B TUE THh qa-Muiia Sged & fod fopan siran &1 =men sl

How are production, consumption and capital formation related? 3

SR, SYHRT T Ysil AT e YeR Ush ga & gerad @ 7

Explain the concept of 'Process based division of labour' with the help 3
of a suitable example.

‘GishaT MY FHITTS bl STAEMION & ATET Uh IS0 &I BT |
OR / 3@

Distinguish between 'labour-intensive technology' and 'capital-intensive
technology'.

‘FH e q@All S Yl e ddbrihl & S T W g
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53 Prepare an imaginary demand schedule of a consumer based on five prices 5
clearly bringing out the operation of Law of Demand.

Ui Sl U STeTRd #i w1 AW I9id 5T UH SUHIGT @I BIedre AT arfe!
EEIE

54 What are the recent measures included in Consumer Protection Act (CPA)? 5
SYHIERTT FE STUFEH H M —dhM § I &d & H e fohy Ty § 7
OR / 31

Describe the institutions which deal with the consumer grievances.

T Geren @t fawer ST S Sudieien @ firmraal w1 Muerr war
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